

LES DÉCOMPOSITIONS JUSQU'À 10

1 Complète les décompositions du 10.

$8 + \dots 2 \dots = 10$

$\dots 6 \dots + 4 = 10$

$10 = \dots 5 \dots + 5$

$10 = \dots 3 \dots + 7$

$\dots 9 \dots + 1 = 10$

$10 = \dots 0 \dots + 10$

2 Complète.

$10 = 6 + \dots 4 \dots$

$10 - 6 = \dots 4 \dots$

$10 = 9 + \dots 1 \dots$

$10 - 9 = \dots 1 \dots$

$10 = 2 + \dots 8 \dots$

$10 - 2 = \dots 8 \dots$

3 Complète les décompositions.

$5 + \dots 4 \dots = 9$

$8 = \dots 6 \dots + 2$

$\dots 2 \dots + 4 = 6$

$7 = \dots 0 \dots + 7$

$6 = \dots 1 \dots + 5$

$\dots 8 \dots + 1 = 9$

4 Complète.

$\dots 5 \dots + 3 = 8$

$8 - 3 = \dots 5 \dots$

$2 + \dots 7 \dots = 9$

$9 - 2 = \dots 7 \dots$

$6 = 2 + \dots 4 \dots$

$6 - 2 = \dots 4 \dots$

$\dots 2 \dots + 5 = 7$

$7 - 5 = \dots 2 \dots$

$8 = \dots 4 \dots + 4$

$8 - 4 = \dots 4 \dots$

$\dots 6 \dots + 3 = 9$

$9 - 3 = \dots 6 \dots$

5 Calcule en utilisant le lien addition / soustraction.

$10 - 4 = \dots 6 \dots$

$8 - 7 = \dots 1 \dots$

$7 - 4 = \dots 3 \dots$

$9 - 5 = \dots 4 \dots$

$10 - 8 = \dots 2 \dots$

$8 - 5 = \dots 3 \dots$

$7 - 2 = \dots 5 \dots$

$6 - 3 = \dots 3 \dots$

$10 - 3 = \dots 7 \dots$



Complète.

$$10 - \dots 6 \dots = 4$$

$$10 - \dots 3 \dots = 7$$

$$10 - \dots 0 \dots = 10$$

$$10 - \dots 8 \dots = 2$$

$$9 - \dots 6 \dots = 3$$

$$7 - \dots 2 \dots = 5$$

$$8 - \dots 7 \dots = 1$$

$$6 - \dots 1 \dots = 5$$

$$6 - \dots 4 \dots = 2$$

$$8 - \dots 8 \dots = 0$$

$$9 - \dots 7 \dots = 2$$

$$7 - \dots 3 \dots = 4$$